## CONFIDENTIAL

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

September 1999 Form Must Be Typed

**KCC WICHITA** 

### CONFIDENTIAL

ORIGINAL

#### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License # 30606	API No. 15 - 109-20851-0000 /
Name: Murfin Drilling Company, Inc.	County: Decatur LOGAN
Address: 250 N. Water, Suite 300	NE -SW - NW NE Sec. 31 Twp. 12 S. R. 32 East West
City/State/Zip: Wichita, Kansas 67202	700 FNL feet from S N circle one) Line of Section
Purchaser: None	2150 FEL feet from E W (circle one) Line of Section
Operator Contact Person: Leon Rodak	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-3241	(circle one) NE) SE NW SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: M & M Kuhiman Well #: 1-31
Garage 30606	Field Name: Unknown
Wellsite Geologist: Tom Funk N(1 ≠ 1) 5 2009	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 3076 Kelly Bushing: 3086
New Well Re-Entry Workover	Total Depth: 4730 Plug Back Total Depth: None
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 213 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐Yes ☑No
✓ Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/ sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reser
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No.	Location of huid disposal if fladied offshe.
Other (SWD or Enhr.?) Docket No	Operator Name:
07/30/09 08/06/09 08/06/09	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec. Twp. S. R. East West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workor Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-13) and geologist well report shall be attached with this form. ALL CEMENTING Is. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulaterin are complete and correct to the best of my knowledge.	ulate the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: Leon Rodak, VP Production Date: 1705 EBE	Letter of Confidentiality Received
A SOTARY OF	If Denied, Yos [ ] Date:
Subscribed and sworn to before me this day 1	Wireline Log Received (enailed for Spe
2009	Geologist Report Received RECEIVED -
Notary Public:	S.C. M. IIIC Distribution
Shows and the state of the stat	NOV 0 6 2009

Operator Name: Mur	fin Drilling Comp	any, Inc.		Leas	se Name:_	1 & M K	uhlman		Well #: 1-31	1	
Sec. 31 Twp. 12	s. R. <u>32</u>	☐ East	<b>✓</b> West	Coun	se Name: Nam	n roe	5AN				6
INSTRUCTIONS: Sh tested, time tool open temperature, fluid reci Electric Wireline Logs	and closed, flowing overy, and flow rate	g and shut- s if gas to :	in pressures, surface test, a	enetrated whether : long with	I. Detail at shut-in pre	cores. R	leport all ched stat	final copies of ic level, hydros	static pressure	es, bottor	n hole 💯
Drill Stem Tests Taker		<b>⊘</b> Ye	s []No		<b>⊘</b> Lo	g Fo	rmation (	Top), Depth ar	nd Datum		Sample
Samples Sent to Geo	logical Survey	✓ Ye	s 🗌 No		Name	•			Тор	C	Datum
Cores Taken		∐ Ye	s 📝 No		-						
Electric Log Run (Submit Copy)		<b>☑</b> Ye	s 🗌 No			05	5 ATTAO	USD LIGT			
List All E. Logs Run:						SE	EATIAC	HED LIST			
E-mailed Electr	onically:		CONF	(IDE)	VI Flizza						
Dual Induction,	Compensate	d Poros	ity, NOV	0.5.20	) }						
Microresistivity	·			700							
			CASING	RECORD	Ne	w Use	ed				<u>.</u>
	· · · · · · · · · · · · · · · · · · ·	Report	t all strings set-c		surface, inte	mediate, p		etc.		,	
Purpose of String	Size Hole Drilled		Casing (In O.D.)		eight s./Ft.	Settin Depti		Type of Cement	# Sacks Used		and Percent dditives
Surface		8 5/8	·	23#		213	С	ommon	165	3% сс	, 2% gel
						<u>.                                    </u>					
<u> </u>		<u> </u>	ADDITIONAL	CEMENT	TING / SOL	EEZE DE	CORD	•		<u> </u>	
Purpose:	Depth	Type	of Cement	Ţ	ks Used		COND	Type and Pe	ercent Additives		· · · · · · · · · · · · · · · · · · ·
Perforate	Top Bottom	Туре	oi Veineiit	#Ouc	N3 0300						
Protect Casing Plug Back TD Plug Off Zone											
	PERFORATI	ON RECOR	D - Bridge Plug	ıs Set/Tvo	10	Ac	id Fracture	e, Shot, Cement	Squeeze Recor	rd	
Shots Per Foot			ach Interval Per					nt and Kind of Mat		<u> </u>	Depth
	· · ·						. <del>.</del>	· -·· · · · · · · · · · · · · · · · · ·		RE	CEIVED
										NUY	0 6 2009
										KCC	WICHIT
										1100	ANIOI II I
TUBING RECORD	Size	Set At		Packer	r At	Liner Rur	"Y	es 📝 No			
Date of First, Resumerd	Production, SWD or E	Enhr.	Producing Met	hod	Flowing		Pumping	Gas Lift	Othe	er (Explain,	)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate		Bbls.	Gi	as-Oil Ratio	· · · ·	Gravity
Disposition of Gas	METHOD OF (	COMPLETIO	N	Į		Productio	n Interval				
Vented Sold	Used on Lease		Open Hote	∏ <del>P</del> e	erf. 🗆 D	ually Comp	a. 🗆	Commingled			

		M&M Kuhlman #1-31									
				150' FEL				Munk #1-30 330' FSL 2290' FEL			
				2S-R32W			Sec. 30-T1	12S-R32W			
			3086	' KB			3071	' KB			
Formation	sample tops	Datum	Ref	Log Tops	Datum	Ref	Log Tops	Datum			
Anhydrite	2562	+524	+17	2566	+520	+13	2564	+507			
B/Anhydrite	2590	+496	+11	2588	+498	+13	2586	+485			
Topeka	3810	-724	+4	3796	-710	+18	3799	-728			
Heebner	4021	-935	+4	4020	-934	+5	4010	-939			
Lansing	4062	-976	+3	4059	-973	+6	4050	-979			
Mun Crk	4212	-1126	+4	4210	-1124	+6	4201	-1130			
Stark	4292	-1206	+4	4290	-1204	+6	4281	-1210			
Up Pawnee	4489	-1403	+4	4487	-1401	+6	4478	-1407			
Fort Scott	4544	-1458	+7	4542	-1456	+9	4536	-1465			
Cherokee	4572	-1486	+7	4572	-1486	+10	4567	-1496			
Johnson	4615	-1529	+6	4617	-1531	+4	4606	-1535			
B Penn Lm				4640	-1554	+12	4637	-1566			
Mississippi	4665	-1579	+10	4660	-1574	+15	4660	-1589			
RTD	4730						4735				
LTD				4728			4740				

CONSIDENTIAL

NOV 0 5 2009

KCC

RECEIVED NOV 0 6 2009 KCC WICHITA



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Item

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

Quantity

INVOICE

Invoice Number: 119541

Invoice Date: Jul 30, 2009

**Amount** 

Page:

10n may

**Unit Price** 

operator Payon

Customer ID	tomer ID Well Name# or Customer P.O. Payment Terms				
Murfin	M&M <b>⋌</b> uhlman #1-31	Net 30 Days			
Job Location	Camp Location	Service Date	ite Due Date		
KS1-01	Oakley	Jul 30, 2009	8/29/09		

Description

3.00 MAT Gel 20.80 62.40 6.00 MAT Chloride 58.20 349.20 174.00 SER Handling Charge NOV 0 5 2009 312.00 1.00 SER Surface 1,018.00 1,018.00					
6.00 MAT SER Handling 3000000000000000000000000000000000000	165.00	MAT	Class A Common	15.45	2,549.25
174.00 SER Handling	3.00	MAT	Gel	20.80	62.40
1.00 SER Handling Mileage Charge NOV 0 5 2009 312.00 312.00 1.018.00 1,018.00 1,018.00 7.00 105.00	6.00	MAT	Chloride Chloride	58.20	349.20
1.00 SER Surface 1,018.00 1,018.00 1.0	174.00	SER	Handling CONTINUES	2.40	417.60
1.00 SER Surface 1,018.00 1,018.00 1.0	1.00	SER	Handling Mileage Charge NOV 0 5 2009	312.00	312.00
Unit W	1.00	SER	Surface	1,018.00	1,018.00
	15.00	SER	Pump Truck Mileage KCC	7.00	105.00
OK OZ		Ac		Description	]
OK OZ			7.1100/11	50001.pd011	f
		<del> </del>	<del></del>	0//0	-
		<b>│</b>			1

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1684 71

ONLY IF PAID ON OR BEFORE

Aug 29, 2009

i	<u>— — — — — — — — — — — — — — — — — — —</u>
Subtotal	4,813.45
Sales Tax	186.53
Total Invoice Amount	4,999.98
Payment/Credit Applied	
TOTAL	4,999.98

RECEIVED

NOA 0 6 5003

KCC WICHITA



### ALLIED CEMENTING CO., LLC. 043689

REMIT TO P.O.	BOX 31					CE POINT	<b>:</b>
RUS	SELL, KAI	NSAS 6766	65			PAL	14yes
	ISEC.	Twp.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
フ・30.09 DATE	35	12.5	32 w	CALLED	6:300m	10:00	molsom
m+m; 11.				all w (15.34	. 1 .	LOSAN	STATE
LEASE IZLHIMA		1-21		AFINA II S . Du	<u> </u>	LOSA N	1 7 2
OLD OR NEW (	Circle one)		<u> </u>			ال	
CONTRACTOR	Wor	2,2	<del>-</del> ( ←(	OWNER			
TYPE OF JOB		SACK					
HOLE SIZE \	2114	T.D	216	CEMENT	٠.,	_	
CASING SIZE	8,118	DE	PTH 216'	AMOUNT OI	RDERED 1	<u>ره د د د</u>	~ 390
TUBING SIZE		DE	PTH	<u> </u>	2 90 gel		
DRILL PIPE			PTH				
TOOL			PTH		165	@ 15 <sup>4</sup>	ِ معرو <del>ق</del>
PRES. MAX			NIMUM	COMMON_	165		
MEAS. LINE	IN CCC	SH	OE JOINT	POZMIX	3	_@ <del></del>	6245
CEMENT LEFT	IN CSG.		15	GEL _ CHLORIDE		_ <u>@ <del>2</del> 8</u> 2	= 349 xº
PERFS. DISPLACEMEN	<u>т</u>		12.8	ASC		_ <u> </u>	
DISPLACEMEN				ASC		_ <sub>@</sub>	
	EQU	JIPMENT		<del></del>		_ <u>_                                    </u>	<del> </del>
PUMPTRUCK	CEMENT		ال حرب			@	
# 431	HELPER	K	ح الر			@	
BULK TRUCK	DDIVED					@	
# 377 BULK TRUCK	DRIVER	W.	(A N)			@	
#	DRIVER					@_ <del></del> \	<u>مي</u> (و
<u>#</u>	DICITOR		15.63	HANDLING	* 174		$-\frac{1}{21200}$
•			<i>:</i> "C	NE MILEAGE	11045 = 4 %		
	RE	MARKS:		MOV A 5 2009		TOT	AL . 36 <u>90.45</u>
Lenzas	did	٠ ح	carlage	NOV 0 5 2009			
			<del> </del>	KGG	SERV	ICE	
- Zeb c	<del></del>	وسلم و	0 10:30		OP	216	C7-3
<u>560</u>	520121-	2 44 6	0 10 , 5		CK CHARGE	~10	101800
				EXTRA FOO		@	
Tha	VK X	ことファイ	4 Crew	MILEAGE_	15	_ <u>@</u>	105
	·····			— MANIFOLD			
				(MANII OLD		@	
CHARGE TO: _	Mars	2.2	Dal-				26
						TOT	AL 1123
STREET							
CITY	S	TATE	ZIP				
CI. I		····			PLUG & FLOA	AT EQUIPM	IENT
To Allied Cem	enting Co	LLC.				<u>@</u>	
and furnish	reducaten	to Tein ce	menung equipm	ient — — —		@	<del></del>
and furnish cer	nenter and	neiper(s)	to assist owner		*	&	<del></del>
dong to setted	work as i	s listed.	The above work	was			
done to satisfac	tion and si	upervisior	of owner agent	or		TOT	AL
TEDME AND	ive read an	a underst	and the "GENEI	RAL	(IF A)	•	
IEKMS AND	CONDITI(	JNS" liste	d on the reverse	side. SALES IAX	(If Any)		<del></del>
	1			TOTAL CHA	ARGES		
PRINTED NAM	//		) /				
	E R	8g 2	Incuh -	חופרטוואיד			34 ID 184 30 = +++
	E COR	89 Z	Inruh_	DISCOUNT		IF I	PAID IN 30 DAYS
	E CR	89 Z	Incuh_	DISCOUNT	<u></u>	IF I	PAID IN 30 DAYS
SIGNATURE (	E CR	89 Z 89 Z	Inruh-	DISCOUNT		IF I	PAID IN 30 DAYS

RECEIVED NOV 0 6 2009 KCC WICHITA



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (

(785) 483-3887 (785) 483-5566

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202 INVOICE Six

Invoice Number: 119582

Invoice Date: Aug 6, 2009---

Page:

1

Customer ID	Well Name# or Customer P.O.	Payment Terms
, KS 67202		PROD COPY

CustomerID	Well Name# or Customer P.O.	Payment Terms  Net 30 Days			
Murfin	M&M Kurlman #1-31				
Job Location	Camp Location	Service Date	Due Date		
KS1-03	Oakley	Aug 6, 2009	9/5/09		

Quantity	item	Description	Unit Price	Amount
132.00	MAT	Class A Common	15.45	2,039.40
88.00	MAT	Pozmix	8.00	704.00
8.00	MAT	Gel	20.80	166.40
55.00	MAT	Flo Seal	2.50	137.50
230.00	SER	Handling (Service Market Marke	2.40	552.00
15.00	SER	Mileage 230 sx @.10 persk permi	23.00	345.00
1.00	SER	Plug to Abandon NOV 0 5 2009	1,185.00	1,185.00
15.00	SER	Pump Truck Mileage	7.00	105.00
1.00	EQP	Dry Hole Plug	40.00	40.00
	Acco	Sunt - Und W Sunt	PIA	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1846 00

ONLY IF PAID ON OR BEFORE

Sep 5, 2009

Subtotal	5,274.30
Sales Tax	332.28
Total Invoice Amount	5,606.58
Payment/Credit Applied	
TOTAL	5,606.58

RECEIVED

NOV 0 6 2009

KCC WICHITA

184600

# ALLIED CEMENTING CO., LLC. 044122

REMIT TO P.O. B RUSS		NSAS 6766		SERVICE POINT:					
DATE 8/6/09	SEC.	TWP.	RANGE 3 2	CALLEI	OUT	ON LOCATION		ART	JOB FINISH 10: 000
non Kuhlnon		1-31	1 00 may (2 1)	/ 11.0	21.1	·	COLUMN		STATE
OLD OR MEN (Ci		1-3/	LOCATION OAK	<del>الم الم</del>	3011	V (- 67)	NTO 209		125
ONTRACTOR		w /	4	OW	'NER	Sam	<b>,</b>		
YPE OF JOB	7/1	2TA				<del></del>			
OLE SIZE 7	18	T.D.		CE	MENT				,
ASING SIZE	8,18		тн <i>э.1</i> 6'	AM	OUNT OR	DERED 22	2 <i>5K</i> ,	60)	140 49
UBING SIZE		DEP			1/4	16 Flo	Sand		
ORILL PIPE	<del></del>	DEP		<del></del>	<del></del>				
PRES. MAX		DEP				123 44		ی د	2010 40
MEAS. LINE			IMUM		MMON	_132 sK1	@ <i>15</i> _	<del>///</del>	W 27 -
EMENT LEFT IN	LCSC	3110	DE JOINT		ZMIX	88	@_ <i>8</i>	-	704
PERFS.	CSG.			GE		8	@ <i>20</i>	<u>-12C</u>	166
DISPLACEMENT			·		LORIDE _		@		
MOLLACEMENT			·	AS		- 44	@	<del>90</del> —	· <del></del>
	EQU	IPMENT		Ŀ	10 Seal	<u> 55 /b                                  </u>	@ <i>2</i>		1375
		_					— <u>@</u> —		· <del></del>
UMPTRUCK (	CEMENTI	ER Ma	~				@ <i>_</i>		
	HELPER	Wa	.04				<b></b> @		
ULK TRUCK		0	· · · · · · · · · · · · · · · · · · ·				— @ <del>`</del> —		
~ · · · ·	DRIVER	761	r.				@_ <del>\</del> _		. <del></del>
ULK TRUCK							@:		· <del></del>
1	DRIVER			<del></del>		23.04//	@- <u>-</u>	40	-
					NDLING_	- 2303/A)	<u></u> هم		33200
	***	a a thire A.N.		MII MII	EAGE!	Mynik	, uje		<del></del>
	,	ı¥ŘŔ2:		(~\ <u>(</u> )			" Т	OTAL	3944-
15 SK - 25	0	NC	0 √ 0 5 2009			SER	VICE		•
40 5/1 - 26	0,		PATE OF THE STATE		<del></del>	·			<del></del> _
10 5/51 9 1	7		MGG		TH OF JO		25	70	
30 XX - K	<i>!</i>	<del></del>	<del></del>	PUN	<b>AP TRUCK</b>	CHARGE			1185
153/41- 11	1#				TRA FOOT		@		·
			7.7	MIL	EAGE		@_>	$\stackrel{\mathscr{L}}{=}$	100
		/ <u>                                   </u>	700	— МА	NIFOLD _		@		***************************************
		Honyu	gm, CIF				@		
	_		•				@		
HARGE TO: <u>M</u>	W KN	Weilli	ng Co						
TOCCT		•	<b>U</b>				Т	DTAL	12900
TREET							_		- <del></del>
TY	STA	TE	ZIP						
					ı	PLUG & FLO.	AT EQUIF	MEN	T
				0	510 Di.	-11. 11.7	2 @		1100
					-16-17 Way	- My IN	2_@		70
'n A11: C									
o Allied Cement	-								
ou are hereby re				ıt <del></del>			@	—	
nd furnish cemen		•		_			— -	—	
ontractor to do w									ines
one to satisfactio							. TO	<b>DTAL</b>	400
ontractor. I have	read and	understan	d the "GENERA	L	ma = · ·				
ERMS AND CO	NDITION	VS" listed	on the reverse si	de. SAL	ES TAX (I	f Any)			
	1			тот	ALCHAR	GES			
	Lacist	1/1-	/	.01					
KINTED NAME	<u> </u>	MIND		DIS	COUNT	***	I	F PAII	D IN 30 DAYS
		, /	,		*				
GNATURE	LIES	LAB	whe						

RECEIVED NOV 0 6 2009 KCC WICHITA